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(M7 20) .1 NHRY

(Ve y - x=y ok (x—y —x+y)dy=0 nxnwnn nx 1na x
X+ Y +/X— ) («/ - —«/x+ )dy 0/:x (x#0, x>y, x>-y)

(e
FLE P 6

= = xdt +tdx

( )dx+(J_ VLt )(xdt+tdx) =0 /+(Vi-t -1+t
(-2t ( ) xdt +tdx) =0

( ) x+2x( -t )dt:O

d7: g dt/t#0=y=0

In|x|:j\/1_7dt—t+c

In|x| =arcsint—t+C

In|x|:arcsinX—X+C
X X

check : y:O:(\fx+y+\/x—y)+(\jx—y—\/x+ y)y'=0:> not a solution
=2Jx =0

: 7). (X=2siny+3)dx+(2x—4siny—3)cosydy =0 NRNYNN DR 1IN9 .2
(siny =z Naxna wnNnwn



(x—=2siny+3)dx+(2x—4siny—-3)cosydy =0
z=siny = dz=cosydy
(x—2z+3)dx+(2x—-4z-3)dz=0
t=x-2z = dt=-2dz

(t+3)dx—0.5(2t-3)dt =0

t-15

t+3

J'(l—ﬂjdt: x+C
t+3

t—45Inft+3=x+C
X—22—-45In|x-2z2+3=x+C
—2siny—4.5In|x-2siny+3|=C

dt =dx

siny+2.25In|x—2siny+3/=C

(MTIP1 20) . 2 MHRY

RIN NHY NINanY NYHYRINITOMTN IRNVNAN NR 1INV
; y=Ce ¥ +C,sinx+C,cosx

This isthe solution of linear homogeneous eq of order 3
y=Ce ™ +C,sinx+C,CosX = A =—4, =i
= (A+4)(2P+1)=2°+42° + A+4=0= y"+4y"+y +4y=0

Y'Y 1IN DOV HRNY QIRY MIHRINITOMTA ARNWAN HV 19991 NINAN NR IRXN

1
. G—gje“x RIN 1YV PR QIRY R PYON IRNVNN

T PN WAM 129 ,5RNY IR DY 991N RY PRy QIR

el
y, =(Ax+B)e”
y, =Ae™ +4(Ax+B)e”
y, =8Ae™+16(Ax+B)e”
y, =48Ae" +64(Ax+B)e"
e[ 48A+64( Ax+B)+32A+64(Ax+B)+ A+4(Ax+B)+4(Ax+B) | = G‘%)e“

R



X: 136A=% = A:i

544
_1_ 81
X: 81A+136B =~ = B--8 544 __ 149 _ 119
8 136 136-544 73984
y=Ce ™ +C,sinx+C,cosx+ T . e
544 73984

(M7 20) . 3 AORY
NNRIN NN W (2x+1)y"—4(Xx+1)y' +4y =0 TIORINIIDT ARNVNY R

; IRNWVNN 5V 25500 NINAN NRI N NR IR . y(x)=e™
(2x+1)y"—4(x+1)y'+4y=0

y(x)=e"
(2x+1)n’e™ —4(x+1)ne™ +4e™ =0
(2x+1)n* —4(x+1)n+4=0

x(2n* —4n)+(n* —4n+4)=0

0 for'n=02 0 for n=2

=n=2

y/ — nenx yu — nzenx

: 970 NTHN Y'Y NIV PINS wam)

2X

Il
<

Yy €

(2x +1)(v"e2X +4v'e® + 4ve™ ) —4(x +1)(v'e2X + 2ve? ) +4ve> =0/ :e¥
(2x+1)V"+4xv'=0
dz 4x

z=V": (2x+1)z’+4xz:0 = —=- dx
Z 2X+1

dx+C :—2(x—0.5ln|2x+1|)+C

2x+1-1
2X+1
In|z|=-2x+In[2x+1+C

In|z|=—2]

u=2x+1dw=e?*dx
du = 2dx, w=-0.5¢ >
=-0.5e(2x+1)+ je’zxdx =e?(-x-1)+C = y=-x-1
y=Ce*+C,(x+1)

z=Ce™(2x+1) = v= _[e‘zx (2x+1)dx =



RN . (x+2)° Y —(x+2)y'~3y=0 IMHYRININQMTA IRNVNN NR 1IND
.y(0) =1, y'(0)=—1 NONNN RIN 2P 109 PIND IRXM 'HHIN PINan
(x+2)2 y'—(x+2)y' -3y =0
Z=X+2; dz=dx
7%y"—z7y' -3y =0
y=z",y=rz"" y' =r(r-1z"?
r(r-1)-r-3=0
r’—2r-3=0
(r-3)(r+1)=0
n,=3-1
y1:23:(x+2)3, y2=z‘1=L

1
—C 2Y +C, ——
y l(X+)+2x+2

C,
(x+ 2)2

private solution: y’ =3C,(x+2)* -

y(0) =8C, +0.5C, =1
y'(0)=12C, —0.25C, = -1
C, =-0.03125,C, = 2.5

1

—-0.03125-(x+2) +25——
y (X+ )+ X+2



(MTIPI 20) .4 NHRY
RNVNAN NN

" 2X_y
1-x

y

;Xx=0 220 70 NIYa ARNWNAN YV 'HHIN PINSN NR IRND LR

y= icnx”, y = incnx”’1
n=0 n=1

c,+¢, =0
2c,-2=0
(n+1)c,,—nc,+c, =0, n>2
Co, =—C,
c,=1
n— 1 1 11 311 11
C,y=—C,N=22=¢=-C=-,0,=—C=——,C=—C=—"—-— ===
n+1 3 2 2 3 5 523 52
411 11
, C6: _____ [
652 35
1

y:co—cox+(x2+—x3+lx4+ix5+ix6+..)
3 6 10 15

y=¢,(1-x)+ NOE SO BCIE S
3 6 10 15

y(0)=a n5Nnnn 'RIN NR DYpRN ARNVNN YV PN RN (MTIP14) .2
; 'R 90 Yy poanna
y0)=c,=«a
3 1 4 1 5 1 6

y:a(l—x)+(x2+1x +ox =X+ =X +j
3 6 10 15
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VT

'+L —ﬂ(linear eq)

y 1—xy 1-x

y-+iy=o:> ﬂ:—idx =Iny=In|x-1+InC = y=C(x-1)
1—x y 1-Xx

C/(x—1)+C +—C(x—1) = X
1-x 1

_2X _ o[ X=
C'= =e zj —

(x-1)° (

y=£—2|n|x—l|+2-xil+ Kj(x—l):—2(x—l)ln|x—1|+2+ K(x-1)

1+21dx:—2ln|x—]4+2-i+K
1) x-1

y =K(x=1)+2(1-(x-1)In|x-1))

(MTIP1 20) . 5 MHRY

NN MRNVAN NIIYN DR 1IN R
{Zx’(t) +y'(t)-4x(t) - y(t)=¢"
X'(t)+3x(t)+y(t)=0
:TY NMIRNDN

Iex cos xdx =%eX (cosx+sinx)+C, Iexsin xdx =%eX (sinx—cosx)+C



{2x'(t)+y'(t)—4x(t)—y(t):
X'(t)+3x(t)+y(t)=0
{—6x(t)—3y(t)+ y'(t)—4x(t) =€’
x’(t)+3x(t)+y(t)=
{y' t) =10x(t) + 3y (t)+e
X'(t)==3x(t)-y(t)

JREREh

4 el (9 a)+10=a2+1=o:> a =i

3-i 10 u 0 . .
J( J:( J: —u-v(3+i)=0= v=3-i,u=—(9+1)=-10
-1 -3-i)lv 0

_ (10 . -10 —10cost—10isint
X=¢e . |=(cost+isint) = . .
3-i 3-i 3cost+sint+i(3sint—cost)

_ —10cost _ -10sint
Xl = . ) Xz = .
3cost+sint 3sint —cost
X = —10cost —-10sint
| 3cost+sint  3sint—cost )’

1 1 3sint—cost  10sint
—30costsint+10cos®t+30sintcost+10sin?t{ —3cost —sint —10cost

1 3sint —cost 10sint
10| —3cost—sint —10cost

Y—l —10cost —10sint Issint—cost 10sint \(e' ot
P10 3cost+sint  3sint—cost —3cost—sint —10cost )| O

:i( —10cost —10sint )I 3e'sint —e' cost Jdt

10\ 3cost+sint 3sint—cost )| —3e' cost —e'sint

1. —10cost —10sint [1.5(sint—cost)—O.S(cost+sint) J
10 \3cost+sint 3sint—cost )| —~1.5(cost+sint)—0.5(sint—cost)

1. —10cost -10sint (sint—Zcostj
10 | 3cost+sint 3sint—cost )\ —2sint —cost

_1g —10costsint+20cos®t +20sin?t +10sintcost ]
10 (3costsint+sin®t—6cos’t—2sintcost—6sin’t+2costsint —3sintcost +cos’t
1 (20 ( 2

“10° —5j:e (—0.5}

y —10cost —10sint J 2
=C, G L +€
X 3cost+sint 3sint —cost -0.5
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]’N) PYRT 97010 MIRNVA NIIPYN NITY RAN ARNVYNN DR 121D (J'n'ﬂp] 5) .a
Yy =y +xy' —y=x*: (MY2apnnn N2IYNN NR 1INad
X =Y, % =Y =X %=y =X, X — X +X-X,—% =0

X, (X) = X,(X)
er(x) = Xs(X)
X3’ (X) = X3(X) — XX, (X) + Xl(x)

(M7 20) .6 NHRY
DNINNN NP [2,00) YOPI NHYNNN NPYA SV NINON DR IRD (MTIPI 5) R
oYaH

y'—2y'+y=45(t)
y(0)=y'(0)=0

NYMIRDN ARNVYN ,09VN 207 ,0 TIY NYAPN ROVDT VRPN NI YOP2
. Y=0 %8m0 RN TN PN NYYA 0-2 AONNN RN DY NINMND
ITIPINN OXNA 7 NI DY RY P1INS : NN

: 099% NINNN NTY2 AIRAN YN NYYA NR NS A

{y"+9y:t+u(t—3)et
y(0)=y'(0)=1

1 1
s +9)F(s)-s—1=—+eD _—
( ) ®) s s—1
s+1 1 3(s-1)

32+9+(52+9)s2 e

" (-1 +9)



L {Hl ‘1 3 ‘1 1 } cos(3t)+%sin(3t)

s°+9 s +9
- R 9 (1 L gnay
(s +9)s s? +9 9 27
1 as+b C d
+_
(s +9) s?249 §2 s

(as+b)32+c(sz+9)+ds(32+9):1
a+d=0 = a=0
b+c=0 = b=-v
9
9d=0 = d=0

%=1 => c=1
9

1

1 1 1
L) g36 Lg% (1) ——cos3(t-3)——sin3(t-3)+ —e"?
{e (Sl)(sz+9)} eus(){ 120309 539y }

1
1 S S =—iL‘1{i—+1}+L‘1 20 (- L oea—Lsinase Le
(s-1)(s*+9)| 10 [s*+9 s-1| 10 30 10

1 =as+b+ d
(s—l)(32+9) s?+9 s-1
d(sz+9)+(as+b)(s—1)=l
d+a=0 d+a=0 d=0.1
b-a=0 = {a=b = <{b=-0.1
9d-b=1 9d -a=1 a=-0.1

8 . 1 1 1 . 1
t) = cos(3t) + —sin(3t) + =t +e%u. (t)| ——cos3(t—3)— —sin3(t—-3)+—e"?
Y(t) = cos(3) +_sin(3) + 3()[10 (t=3)-5; ()10}



Table of Laplace Transforms

F(s)=2{f(1)}

f(r)=27{F(s)}

F(s)=2{f(r)}

1 1
l. ]. —_ 2- Ear
5 s—a
n! I'(p+1
B iy w108 A o g (p +)
g sP
7 o 1-3-5--(2n—1)fm
5. W £ﬂ 6. " n=123, . il
25.3 2”5'1‘":
7. sin(at) L 8. cos(at) ..
5" +a ) 5" +a
2as i S
0 tsinfat F— 10. tcos(at] Ev— |
& (+) ) ()
= - 4L g e i iy T PR
11 sin(at+) Ssm{b? nﬂm&{b] 17, cos(at+b) JCO‘:{J} nﬂsm[\.i};]
5 +a’ s +a
[ ['1 ] b 5 5 §—a
e sin|or ] . : e f T re—
13‘ | ? {S_ﬂf]_'fé"_. 14. e CDI‘S‘II: J {S_ﬂ:]—'_l_z}..
n! i i A
15. o™, n=123.... — 16. flct) —F| = |
(s—a) ¢ \c)
17. u (t)=u(t—c) g 18. &(t—c) e
s
19 u (t)f(t—¢) e “F(s) 20. u,(t)g(r) - {gfr— r}}
21. " f(1) F(s—e¢) 2. (1), n=1.23, (-1)" F™(s)
23 lf['r‘] [wFfu}n'.'.' 24. [ f(v)dv F(s)
el B ) 1e B
25 ‘I‘:f[r—r}g[T}n'r F(s)G(s) 26. f(t+T)=7() _[.3 e f(t)dt
1-e*
27 O () s"F(s)=s"£(0)=s"2£"(0)---—g ™ (0)- £ (0)
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